he following is false?
softer than sodium
d is not a conductor
Ja has same structure

athode and positive rays
) in pure form ( dehydrating-agent, odorless , conductor of electricity , All )

, . Stability dependence--- delocalization of PIE Electrons
ution Law—Solvent Extraction (ratio of solutes in both solvents)
one is more Dilute? (1 molar or 1 molal solution of Urea)

rease during freezing water is due to (tetrahedral structure with empty. spaces,

ral with empty spaces) -
s the effecton equilibri,u.m---duﬁ(}u change in volume?-
disturbs the ( Equilibriufi constant, position, nonej
hemical Series used for ( redox rexns, battery rexns)
ion of freezing point when volatile solute is dissolved in it (related question)
rder rexn, 50% of the substance decays in 1 hour, remaining will decay in?
eaction depends upon surface area (related question) :

which poison the catalyst?
ents form (hydride, dioxide, halide)

boxides, superoxide, oxide, all)
molecule)




the mother of invention---scientists have discovered many things---when

a will, there is a way... (mistakes were made in these and was asked to choose
4 )
rect one)

Physics

» Force Fis required to be applied on a body of 1 kg placed on inclined plane at an angle
‘ : of 30 degree to move it. The force is(g,gVv3,g/v3, g/Vv2)

o A ball strikes another ball mass 2kg and 1kg at rest wi
) collision the velocities are 20 and 155 !
: ‘ ~ (it undergo Elastic collision---true option)

th a velocity 30ms ™. If after the
, then

Two satellites s1 and s2 are with radiys from the Centre

of earth of 80,000 and 40,000
then their orbital velocity v1 and v2 are (V2 vl=v2 , v2 v2=vl,vl=v2, none)

A body takes a pendulum in the lift and it accelerat

€S upwar
(increases, decreases,

firstincreases then decreases, decres

The pressure in a pipe of varying cross sectional
n %jit's(min; mam, none)

3 hes c1 to another car 2 with

i ns, for c2 is ..

ds the tension‘in the string
ses then increases)

avelocity of [ the a

Pparent fre.g ;
- The real frequency is? (the

data was give,




In R@xcircuit

" iy
gh the solenoid along the axis, then it will pass along t
spiral path, etci.) P
—_ leadsthe

‘ .'1’e‘p sses throy
rallel'to axis, along

fabulb and capacitors are connected in series, the current passing is AC, then then
bulb will (glow, fused, nothing happens, etc)

Transistor is used as (switch-—-right answer)

If inputs are different then for NAND gate, the output is?

A boy named Amir sees a scale placed on earth while he is in aero plane. Thgn the
length of scale will (increased, decreased, same) _
If the speed of body is increased, the mass of body will (increase, decrease, none)
As the temperature increases , no of longer wavelength radiation(increases, decreases,
none)

When photo electrons are emitted from metal surface then what would be greater than
threshold? (intensity, frequency, both ,none)

Davison and Germer experiment proves ( wave nature of electron, particle nature of
electron , both )

Laser will produce if the atoms in lower energy states are — than those in higher
energy states. (greater, less, equal, All)

A flexible loop of wire is lying such that field of lines are parallel to area. If area begins to
change then emfinduced is (max, zero, both, none)

In FM , the amplitude of carrier wave is (_ilnnim:hcd, mcreased, both, none)

ISR

~—




\d, increase in volume is 5-2/t+1 then at t=3 rate of increase is?
) find solution

"'x"/‘x-l and x not equal to 1. Then composite function ff=
and -1, None) ?

warea of y=-1+ (9/x%) when 3 > x < §

y '10+c05100+cosl40=?

: g§$=4logs(x) find solution

: (X-1)+Iog3(X+3)-Iog(x+l)=1 find solution

fis infinity at ( 1, -

nembered committee js to be formed from five couples the

n how many committe
be formed when men are greater than women?

scalar, X is a column vector, then AX is? (Column vector, etc.)




equation 5x1 2.3, -, :
rate of chemc
i creases,decreas
if the Intensity ng frequenc f i
4. most idea| gas at 100om te; s light IS
co2 :S02,nh3,12 L

densuty of Methane

al f'eactiop
€.Same

nd the sup??

In which Paper some of additiv

Carbon paper
Glazed paper
Filter paper

Art paper

a force of 9N acte
a.33 b.14
C B8 25
the value of r.for monoatomic ¢

]as 1S

a.1.29 b. 2.29 ¢ 1.67 d.1.29

- An inducfir may store energy in its..
a. coil ‘

b. magnetic field

C. electric feild

d. both b & ¢

ALUMINIUM TRIOXIDE IS

A)BASIC OXIDE
B)ACIDIC OXIDt
C)AMPHOTERIC C
D)NON
. In RL(

131

XIDE

series circuil
d. Imin
b. max
GZero

d. confused..:

..
'
b

. e/m value of an election is
a. vanable
L. constant
c.strong
d. confused...:(
15. molarity ov heavy water kitni hoti hai?

dou ! : :
bled, then the emission of electron js??2277

> Perpndcular to force of 16

13. the ratio of garavitational mass and e
1:1
2:1
342
S

atm and 127 Cis?22

€15 not added?

N resultant will be?

1Ce g“--‘“w‘\‘ y 1S..

rual Mmas

By



aterzentropy of black hole?
TH'?T)'?

10 poWer 17 sec
10 power 17 min
one
ife method is used for --- (ist arder rexn, 2nd order rexn, zero order , integer fraction)
, ulli eq is according to ------- law???
at what temp the speed of sound is doubled??2227222272
22. A2 is symmetric if..
a. A is identify
b. A is skew symmetric
C. A is symmetric
~ d. Confused...:(
23. jb observr nd source both mov kr re hn dopplr effect me tb knsa frmla lota hy?
do any 1 knw?/
C | 24. A triangle wdh n0 right angle is ?
%‘. | a, obtuse !
& f b, acute
i ¢, obligue
d, euilateral
25, if a player throw a ball toward other ball taking time to reched 15 5 se
taking g=10m/s"2
a 13.25m
b21.5m
c20m
d15.6m
- 26. which has greater oxidizing propeity
a)flourine
b)chlorine
c)bromine
d)iodine
27. The Equation of circle is (x-3)"2+(y-7)"2=7. Which axis is the circle touching?
a) x-axis
 b) y-axis
c) both aandb

hnd max hieght attain by the




)
31, Stoke's law holds fo;-
. (a). Cylindrical bodies
(b). Cubical bodies
(c). Spherical Lodies-
(). None of these,
32. the formula for laughing gas is I
a)N20(dinitrogen oxideo
D)NO(nitic oxide) | |
C)NO2 | b
d)503 ‘

33.a Projectile has MAximun RAnge of 200 Meters What is MAximun Height Attained by IT

25 m ; i

34. . : g
75m |

|
|
|
‘ 50 m i
\

100 m {
35. FIND TI(.):' FREQUENCY OF AN ELECTRON WHIEN ENTERL THA UNTFORR MEGHETIC FIELD OF ST,
A 1.39 INTO10"11HZ
B2 2371021217
€ 6.25%10718HZ
NONE
36. From going into ONe mediam to anathcr which does not change

frequency

Speed .
87. i i =
Wavelength — = e

Al ‘
38. A Body Moving Along the circumference of a circle completes two revolutions. If the radius of the circular .,
path is R, the ratio of displacement o the cavered path will he?




ON ENERGY 1S MAXIMUI [
{LORINE,BROMINE, IODINE
ntroid of triangle with points (3,3),(1,4) and (2,2)?

£,L

n ideal transform if volt across secondary is 5v and current is 10 amp
3 amp find voltage across primary?
the strong acid is a very good

and current across primary is

b)reducing agent
c)declorizing agent
)bleeching agent
2+y~2+15x+12y=0 is a the circle
aving centre at x axis
entre at y axis
SSif ugh origin

t fallow octete rule? a) PLiCI3 b) PhclS ¢) none of these d) All of these
2-3y22410x+2y+13=0 represents

..

de an attrction blwn 2 neutrne -
" Al




5.

55.

56.

57

594

60.

nductive reactance if fre

lamet
ELECRIC ND MGNTC FIELD :

ATRN TO ITS RI8
B.TURN TO ITS LFT

C.KEEP MOVNG IN SAM DRCTION BT SPEED INCR
D.KEEP MOVNG IN SAM DRCTION BT ITS SPEED

Which wil mOre efectve in knOking a bear
A)a ruber bulet

B)a lead bulet of same momentm

half life method is for raections having order??

1st order

2nd Order
3rd order

Integer

_ quency is X
d (2,3) are end points of diametes ofzcir:zl:nTh a1 ey

EXIST IN atis th
POINTD IN SAME DIRECTION.ELCI’RONRs\IGITLIN SAME DchSS

d i

EASE.
WILL DCREASE

SRNG MAGNTCfield iz aplied on a stationry elctron.thn elctron

a.mov in drectin of field

b.move opposte to field

c.strt spinning

d.remain stationry

a ball rolls down a frictionless inclined plane
if its velocity at some instant of time is 10m
asm/s

b 10m/s

c 15m/s

d 16m/s

. transvers waves transfer from

Solids

Liquids

Gases f‘z
-

all

the sol set of x=tan x is
a)phi

b){pi/4}

o)1}

d){}

1 uniform acceleration of 1 m/s”2

| be the velocity after 5 seconds.

_K.e of body is increased by 21 % . The inc in its momentum will be

5%
30%

10%




ki 68.
4

53

67.

70.

ANGULAR FREQUENCY OF SECOND PENDULUM IS.

"API .
‘' B2PI
C 3PI1/2
fiED 1 :
66. In nano technology the atoms , used mostly , are of which size?

ROcket PrOpulsiOn is accOrding to0 ?
a. 1st

b. 2nd

¢. 3rd law of motion

d. none

Heating a magnet will

a, weaken it

b, strenghten it
c, reverse its polarity
d, have no effect

. From going into rare to denser mediam THe Speed of SOund and Light Behaves as

Sound INcrease and Light decrease
Light increaée and sound decrease

both inc&ease

both decrease e 5 »
Silicon can be obtained from .. a2 v LT et

Arocks ' A
B mud e SRS
C sand e
D water £}




5/6
- WAves transfer
. Energy

Momentum

POwer

Both A And B

None ofthese
. which orte is the example of equlibrium.
a paratroper moves downward
b car on a road
c electron around nucleous
d both a and ¢ ‘ y Rt
. IF A SIMPLE PENDULUM SHIFTED FROM LAHORE TO MOUNT EVEREST THEN ITS TME PERIOD AND
FREQUENCY? ‘
A. INCREASE AND DECREASE
B. DECREASE AND INCREASE
C. NO EFECT
D. MAY BE INCCREASED.
_If earth stOps rOtating then value of g at lahOre will

inc

tional k.E . . . HOop, disc, sphere ?
M i$ made of satefites 3, 8,24, 12
Ty




' f gaseo tmsl&sserthansohd"

pel rom-a ceiling of an—elevamrmmg up’____/n acceler, !
e ele atonwall be ?

o~
~~

1 B — N

nology the atoms , used mostly , are of.'which size? g -
-triangle..no angle is greater than... ? - *

oSN
H -
! !

ICH COMPOUND GIVE BOTH ALDEHYDE AND KETONE ON 0ZONOLYSIS? B |
A 2 METHYL 2 BUTENE y

.120Hz..
ouli equation is based on law?
ock's law
‘Newtons law
Einstiens equation
ne
/NONYmMS )

phobic b. rough cloth c.wunderkind d. wry
wation of circle is (x-3)"2+(y-7)22=7, Which axis is the circle touching?



"as mOre rOtationa| A
iy k.E . *
S most reﬁned fOrm of Sy HOOp, d‘sc' vs:phere' ?, .

a.energy
b,mass :
C.waves
d.anti matter
94. Best modulation w.
a. A.M
b: F.M
c. blue band
d. micro band
95. The unit vector is defined by.. ‘
a. (1,01
b. [0,1]
G120
a1
96. FOrmula Of Methylene ChlOride ?
aJCH2CR IS A il
b. CHCI3 s S -
c. CH3Cl Faiiy S
d. CCl4
97. coshx2+Sinh2x=

r.t noise is.,.

a.sinh2x

b.1

=l

d.cosh2x
98. if a metal is covered with oxide layer , the value of work function will be

(a). decrease

(b).increase

(c).no affect
99. the ratio in which y axis divided the line joining points ( 2, -3) and (-5, 6) is

a) 2:3

b) 1:2

c)12:5

d) 3:5
100. Keep it in mind

12th derivative of e6x

67 12.e6x
101. The average value of an even function is

(-ve ,+ve, infinite, none)
102. what is the angle of projectile whe
103. the multiplicative inverse of x such that x=0.:

a)x .
p)does not exist

L
i 3
A e ey 3 '
St U = bl S BEOS™ vl il i (1 FEN

n the distance of height and range of same measure?




‘A Body Is Fallin freely Under Gravity. How much Distance it Falls During an interval of time
1st and 2nd seconds of its motion,taking g=10?

ax3-8x+b+6 is exactly divisible by x2+ 7x-3=0 then the value of aand b ?
8secOH”2 - 6sec® +1 = 0 has no roois.....why...???
joule thomson effect is not obeyed by

.non ideal gas
.both obey
both dont obey
5 If linear momentum of abody measures 50 percent then

any percent

K.E of the body will iﬁcreases how

ot rule iz only followd by period?

to the tangent of function at x=0 will be

I » . 3 ,L.J "‘I"
A M3l 5 GaltRltiEE




120. .

y=12x I et s
y=16x ~— — — e ot R
y=8x
29 Which one is produced 1st?
a)Induced emf
b)Induced current
c)both
d)none
12
a.35
b.45
a 25
d.55
123. The frequency of simple pendulum depends upon?
a)length
b)value of g
c)botha &b
d)none
124. Proton is made up of
a)l :
b)2
c)3

how many diagnol can be formd from 10 sided polygon

........ wee quark??

which doesnt hold pyq,
i ‘“)’f‘tg

prty of existne of multiplictv invrse?

(
+ 1

Yo a body moves with uniform acCeteration with a'distance x for 1 second,relatio
=24x ' 2 s :

N DE




If a linear momentum of a body measured 50 %.
- increase:

- (ECAT 2008)
~'A) 50 %
'B) 100 %
C)125 %
D)200 %
§ 315 Xk y = 3xy
i . thn identity elemnt w.r.t * (steric) i
1 a.3 :
b.1/3
c.1/9
d.1 . |
132, The statement x or y .
X or y implies to x is false if
a. X iz true nd y iz true
b. X iz false nd y iz false
¢ Xiztrue ndy is false
d. X iz false nd y iz true ‘
} i33, - Orderd proprties dsn’t hid for

ifa.zZ
b.N
& .Q

Then the Kinetic energy of the body will

A2 + 174+ 76 + M8 =227799









